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DO NOW
In the diagram below, AC = 7.2 and CE = 2.4.
Which statement 1s not sufficient to prove

AABC ~ AEDC?
2.1 2.4
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DE =2.7 and 4B = 8.1 3 24
3) CD=3.6and BC =10.8 dAS™ 0¥
4) DE=3.0,4B=9.0,CD =209, and BC =8.7
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Proportions in a Right Triangle
The altitude to the hypotenuse of a right trianglalivides
the triangle into two similar triangles thatre also
similar to the original triangle
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1. Inright AABC, altitude CD is drawn to hypotenuse AB.
Find AD.
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2. Inright AABC, altitude BD is drawn to hypotenuse AC. If
AD =4 and DC = 16, find DB.
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3. Inright AABC, altitude BD is drawn to hypotenuse AC.
If CB=6and AC=29, find DC.
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4. In right AABC, altitude BD is drawn to hypotenuse AC.
If AD = 8 and DC = 4, find DB in simplest radical form.
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